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Yijk = ik + ik
= M+ij+ﬁk+a5jk+€ijk
gijk ~ N(0,02)
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aj = Hj T H
B = px—p
afjr = pr— (ko4 Br) = Wik — py — o+ 1
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83.2 DOOOO

Hop @ a=as=...=aa=0 (1. =po, =...=pa)
Hop : Pr=p2=...=Pp=0 (p1=p2=...=pn)
Hoap : afii=afia=...=afap=0

8.3.3 O0O0OODOOOOOOODOOO

Yij =10 = wjr—p +  Yijge — fjk
A T T e (R R U A R N R G
Y =Y., = Yp—-Y. + Yi—Yu
= Y, =Y. + Yp-Y. + Y -Y; -Y,+Y.
A B n A B
S35 Wi = BSR4 aAS VAoV 4
j=1k=11=1 Jj=1 k=1
A B - n A B
nY D (V=Y =Y +Y)? + > > Vi =
j=1k=1 i=1 j=1k=1
SStotal = SSA + SSB + SSAB + SSe’rT‘OT
nAB-1 = A-1 + B-1 4+ (A-1)(B-1) + AB(n-1)
dftotal = de + de + deB + dferror
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source | SS df MS EMS F
S8 By MS

A S554 dfa T +—F5 NS,
S8 Z MS

B SSg dfs rrs 2+ 51 __ NS,
S5 E = Z , B 5 MS

AB | SSap | dfap | GiE | ol + —iEThn M3,
SSerror

error | SServor | dferror | Fpeer | of

total SSiotal dftotal
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